ZIRA<ADER =IERKE3I> No.

1. ROKXEZEBR LRSS,

(1) (x—T7y+5)(x—Ty—5)

.

2 (z-y+6)(zr—y—6)

pia

(3) (x+3y+3)(z+3y—3)

4) (z+6y+5)(x+6y—>5)

%

5) (x—4y+1)(x—4y—1)

(6) (8z+6y+1)(8z+6y—1)

.

(7) (22 —8y+5)(2z — 8y —5)

2

) (Tx—9y+5)(Tx — 9y — 5)

i

(9) (6x+ 8y +9)(6x+ 8y —9)

%

(10) (5x + Ty + 4) (b + Ty — 4)

¥




ZIRA<ADER =IERKE3I> No.

1. ROKXEZEBR LRSS,

1 (z4+y+3)(z+y-—3)

.

(2) (z—9y+1)(x—9y—1)

pia

(3) (x—6y+9)(z—6y—9)

4) (z—2y+9)(z—2y—9)

%

(5) (z—5y+9)(z—5y—9)

(6) (97 — 8y +6)(9z — 8y — 6)

.

(7) (92 + 5y + 1)(9z + 5y — 1)

.

®) 2zx+3y+T7)(2x+3y—7)

i

(9) (6xz — 5y +5)(6z — 5y —5)

%

(10) (42 4 Ty + 9)(4z + Ty — 9)

%




ZIRA<ADER =IERKE 3> No.3

1. ROKXEZEBR LRSS,

1) (z—2y+1)(x—2y—1)

.

2) (z—Ty+1)(x—Ty—1)

pia

B) (z+y+2)(z+y—2)

(4) (z -5y +5)(z — 5y —5)

%

B) (z+y+8)(z+y—38)

(6) (8z 4 8y + 8)(8z + 8y — 8)

.

(7)) (Tx—Ty+9)(7Tx — Ty —9)

.

(8) (92 — 8y +6)(9z — 8y — 6)

i

(9) (7Tz—9y +5)(Tx — 9y — 5)

%

(10) (8z + 4y +5)(8z + 4y — 5)

%




ZIEA<KADEMHA
1. RORERB LA S0,

—IERE 3 >

1) (x—4dy+T7)(x—4y—7)

.

No.4

(2) (z+Ty+8)(z+ Ty —28)

i

B (z—y+2)(z—y—2)

@) (z+y+3)(z+y—3)

%

B) (z—y+4)(z—y—4)

6) (Tx —9y+5)(7x — 9y — 5)

.

(7)) (To+ 7y +4) (T + Ty — 4)

/S

(8) (92 — 8y +6)(9z — 8y — 6)

i

(9) Bz —2y+T7)(8z—2y—7)

%

(10) (8z + 4y + 4)(8x + 4y — 4)

%




ZIRA<ADER =IERKE3I> No.

1. ROKXEZEBR LRSS,

(1) (x+4y+8)(z+4y —8)

.

2) (z+9y+1)(z+9y—1)

i

(3) (x—9y+9)(z—9y—9)

(4) (z -6y +9)(z—6y—9)

%

(5) (z—4y+8)(z — 4y — 8)

6) (Tx —9y+5)(7x — 9y — 5)

.

(7) Bz + 9y +2)(3z + 9y — 2)

/S

(8) (6x — 3y + 3)(6x — 3y — 3)

i

(9) (6xz — 5y +5)(6z — 5y —5)

%

(10) (8z — 2y + 8)(8z — 2y — 8)

%




